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QUESTION 1

You are proposini a VMAX3 eNAS soluton to a customer. The customer wants the eNAS system to be backed up to
tape. Which I/O module will meet this requirement?

A. 2-port 10GbE BaseT
B. 2-port 10GbE Optcal
C. 4-port 8 Gb FC

D. 4-port 16 Gb FC

Correct Answer: C

QUESTION 2

Which types of authentcaton are supported by Unisphere for VMAX?

A. Local Directory, Windows (local and domain-based), and LDAP

B. Local Directory, Windows (local and domain-based), and RADIUS

C. Local Directory, Windows (local and domain-based), and CHAP

D. Local Directory, Windows (local and domain-based), and Secure Service Credental

Correct Answer: C

QUESTION 3

When data consistency is not a requirement, which SRDF mode is preferred when replicatni larie volumes of data?
A. SRDF/DM

B. SRDF/A

C. SRDF/S

D. SRDF/CG

Correct Answer: A

QUESTION 4
Two RDF iroups from two VMAX3 arrays have been added to a RDF Consistency Group. SRDF/A Mult-

Session Consistency (MSC) has been enabled for the Consistency Group. The RDF daemon has been
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started on a sinile host that has access to both the VMAX3 arrays.
What will happen if this host becomes unavailable?

A. Cycle switchini will stop

B. SRDF mode will chanie to Adaptve Copy Disk

C. RDF links will be suspended immediately

D. SRDF pair state will become parttoned

Correct Answer: A

QUESTION 5

A customer wants to implement SRDF/S for an applicaton. The applicaton is performini at 12,000 IOPS and is usini
many volumes. The siie of the I/O is 4 KB. Thirty percent (30%) of the IOPS are writes. Assume an RA can handle a
maximum of 4,000 4 KB IOPS. Based on best practces, how many RAs should be recommended?

Al

B. 2

C.4

D.8

Correct Answer: B
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